RCA4DAT-6G Series Multi-Channel Attenuators

Rack Mounting Kit

RKT-RCA4DAT

Supported Models
RC4DAT-6G-95
RC4DAT-6G-60
RC4DAT-6G-30

Product Overview

Mini-Circuits’ RKT-RC4DAT is a ready-made kit for rack-mounting up to 8 x RC4DAT-6G series multi-
channel programmable attenuators. The kit includes a 3U 19” rack-mountable panel and all the fittings

needed for mounting and assembly.

Note: RC4DAT-6G series multi-channel attenuators not included.

For larger multi-channel attenuator assemblies the ZTDAT series provides an alternative option, from 8
to 48 attenuator channels in a compact rack-mountable chassis. Click here for more details.

Mechanical Specifications

Dimensions 19" (W) x 3U (H)

Case Drawing 99-01-2876

Case Material

» Aluminum (with protective coating to prevent corrosion)

Panel Items Front Panel Rear Panel
. *CE
Panel Marking Model name “EAC

Kit Components

Part Number Quantity |Description

B12-319-01-41+ 1 FRONT PANEL 3U FOR RKT-RC4DAT
B13-319-11+ 2 STIFFENING ANGLE FRONT PANEL
B13-319-34+ 8 MOUNTING ANGLE RC4DAT RoHS
B18-AC-038+ 24 SCREW FL HD #4-40 .375"LG RoHS
B18-ACK-005+ 2 FRONT PANEL HANDLE
B18-AD-038+ 10 SCREW FLAT HEAD #6-32 X 3/8 LG
B18-AE-038-1+ 4 SCREW FL HD #8-32 3/8" LG RoHS
B18-DB-038+ 16 SCREW PAN HD #2-56 3/8"LG RoHS
B18-HB-002+ 16 WASHER FL#2 OD.187/ID.096 RoHS
B18-JB-001+ 16 WASHER SPLIT LOCK #2 RoHS

Ordering Information

Please contact Mini-Circuits’ Test Solutions department for price and availability:

testsolutions@minicircuits.com

[ Mini-Circuits’

2 (19-Jan-22)

www.minicircuits.com | PO Box 35166, Brooklyn, NY 11235-0003, USA | (+1) 718-934-4500 | testsolutions@minicircuits.com

Page 1 of 5


http://www.minicircuits.com/
https://www.minicircuits.com/WebStore/RF-Programmable-Multi-Attenuators.html
mailto:testsolutions@minicirctuis.com

RC4DAT-6G Series Multi-Channel Attenuators

Rack Mounting Kit RKT-RCA4DAT
Assembly Guide

B12-319-01-41+
FRONT PANEL

B18—AE-038-1+
INSTALL WITH LOCTITE 22
4 PLCS

. i
. |
- | | B18—ACK—005+

|
| HANDLE (3U)
2 PLCS

Step 1.
. Attoch 2x B18—ACK—005 Handles (3U) to the B12—-319—-01—41+ Front Panel using x4 B18—AE-038—1+, as shown.
Install with Loctite 220.

B18—-AC—-038+
INSTALL WITH LOCTITE 22
2 PLCS

B13—-319-34+

Step Z.

. Attach B13—319—34+ RC4DAT Mounting Angle to the Front Panel using x2 B18—AC—-038+, as shown. Install
with Loctite 2Z0.

[--] Mini-Circuits

2 (19-Jan-22
( 9-Ja ) www.minicircuits.com | PO Box 35166, Brooklyn, NY 11235-0003, USA | (+1) 718-934-4500 | testsolutions@minicircuits.com

Page 2 of 5


http://www.minicircuits.com/

RCA4DAT-6G Series Multi-Channel Attenuators

Rack Mounting Kit

RKT-RCA4DAT

Assembly Guide

Step 3.

. Attach the RC4DAT
Split Lock Washers,

B18—-DE-038+
B18—-JE-001+
B18—HE—-002+

2 PLCS

as shown.

RCADAT COMPONENT

Component fo the Mounting Angle using x2 B18—-DB—038+ Pan Head
and x2 B18—HB—-002+ Flat Washers,

o &0 D

Screws, x2 B18—JB—-001+

Step 4.

. Repeat Sieps 2 aond 3, |

FINAL RCADAT SUB—ASS
THAT CAN BE INSTALLED (8TH)—

in order to achieve the desired number of RC4DAT sub—assemblies

maximum number of x8 RC4DAT sub—assemblies may be installed on the RKT—RC4DAT.

2 (19-Jan-22)

[--] Mini-Circuits

www.minicircuits.com | PO Box 35166, Brooklyn, NY 11235-0003, USA | (+1) 718-934-4500 | testsolutions@minicircuits.com

EMBLY |

. As shown above, a

Page 3 of 5


http://www.minicircuits.com/

RCA4DAT-6G Series Multi-Channel Attenuators

Rack Mounting Kit
Assembly Guide

RKT-RCA4DAT

I—B18—AD—038+ \813—319—11+

INSTALL WITH LOCTITE 220 STIFFENING ANGLE
10 PLCS 2 PLCS

Step 5.

Attach the x2Z B13-319—11+ Stiffening Angle to the Front Panel using x10 B18—-AD—-038+, as shown.
Install with Loctite 220.

2 (19-Jan-22) -] Mini-Circuits

P 4 of
www.minicircuits.com | PO Box 35166, Brooklyn, NY 11235-0003, USA | (+1) 718-934-4500 | testsolutions@minicircuits.com age 4 0f5


http://www.minicircuits.com/

RKT-RCA4DAT

RCA4DAT-6G Series Multi-Channel Attenuators

Rack Mounting Kit

Page 5 of 5

dAL % # # # %

B

S0'S

=

dAL

68’

S0d 9|

YOLJANNOD ITYAWIL VWS

= =l = = i

Etss &7 &5 647
H. B

;
;

o ors e
it
e

GGG 8BSl — — L 434 00— I |—

£
0061 38
g
08z'gl 3
2
dAL MO¥r 8—INIW 8Sn— /dAL IMOd ¥O HOLVOIONI 031 ks
\ / m
Lvayou-LMy ® |\ ® / ® SHNOAO-FamA 3 S
M@ \ / @ g
5
o @ @ @ |\ ® @ @ @ @ lety °
4 N asn xﬂv asn ‘iy asn ‘Iy asn ‘ﬂy asn nﬂwx asn ‘Iy asn ‘ﬂy asn xn = T m
/ —_
dmd o] dmd =] dMd [o] dmd (e} dmd o] dmd o] umd o dmd [e] dAl
AL ® ® ® ® ® ® ® ® o %) g
<
* NV NV NV NY1 NV NV NY1 NV f M
fam Ty 4 =
% e ® ® @ @ ® ® ® S I
\ ~
_,l@ H ) 4 ,__, 3 a 2 g v el 81 mm,
| @ .,_,., @ @ k u H
”_ ) m <
—ONNOYBO 90F * BLZ X¥ L—dAL “Movr s¥rd A
Q=
- o
‘ . N = 3
SOTd Z ‘IIANVH —dAL O1'Z=—51'Z—~ €3
T
(LM L¥¥ NI @3anIomI Ezvl_,_. M N
SO1d 8 ‘LINN XX—-99-1v0roy |\ AN .
,,_ h\ z
L . . T ] [ ] m.,
f f f r.I|_H_ U|IL £
o
I
<
©
-
n
™
x
o
1]
o
o
=
S
9
3
g
=
g

Outline Drawing (After Assembly)

2 (19-Jan-22)


http://www.minicircuits.com/

